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Benefits and Problems of living in a city

A place where people establish a
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Settlement Benefits Problems

community
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Site The actual location of the settlement, / crossing point 4 o More houses to buy and rent Traffic causes congestion,
including the physical character of the oo Rla]m' B accidents, noise and air pollution
S Fertile e SPriNg - e vt
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Rural The countryside T — Food supplies reliable Land is expensive to buy near CBD
“ Urban Built up area Bridging point = (A) where the river is narrow enough to

Settlement

Patterns

Types of settlement

Hamlet — e.g. Hatton — a small settlement
usually under 100 people — no facilities or

bridge or cross a stream e.g. Warrington or shallow
enough to ford

Dry point = (B) in especially wet areas, settlements built
on higher ground to avoid flooding and unhealthy
marshland e.g. Ely in Cambridgeshire

Urban Landuse Model

Key Golden Square
Central business district (CBD)

i—_}‘— = services Nodal point = where natural routes meet such as two =
B == . Wilderspool Causeway
mlns | =~ | = R Village — e.g. Appleton Thorn — bigger thana  Valleys or several rivers Ll
G LR L hamlet, smaller than a town. Population Defensive point = (A, D) a site that can easily be protected Appleton (lext to school)
T = ’ ’ : )
f 5 &| between a few hundred to a few thousand —  from attaclf e.g. on the top of a rocky outcrop or in the Inner suburbs
Madeatad often has a shop, church and primary school bend of a river (meander) so they were protected on 3 (l;mgfrss:;;bs

: i > Dispersad

Town — e.g. Runcorn — larger than a village
but smaller than a city. Areas for shopping,
housing, industrial and trade.

City — e.g. Warrington, population of 202,200
- larger than a town. May have a cathedral, is

sides e.g. Shrewsbury
Wet point =( C ) settlements built near a source of fresh
water in an otherwise dry area.

1. Command Words

Recall one or more pieces of information.

Name

granted city status by the monarch. Cities are : : :
often cultural centres with theatres, concert H State Write down what the term in the question means.

IIE.‘J L0 venues and museums. E Give Recall one or more pieces of information.

SR A Conurbation — e.g. Greater Manchester has

ST & . n Describe  Give an account in words of someone or something including all of the relevant characteristics, qualities or events.
grown to take over Stockport and Swinton —

e when a series of towns or villages become H Explain Make an idea, situation or problem clear by describing it in detail revealing relevant data or facts

joined, due to the growth of a city. H How Discuss the creation of something giving specific references to support.




